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N.B. :(1) Question Nos. 1, 2 & 3 are compulsory. Attempt any four questions
from the rest. '
(2) Figures to the right indicate full marks.
(3) Draw maps and diagrams wherever necessary.

1. (a) Study the Thematic map of the WORLD provided to you and answer the 5
following questions :—

(i) What is the theme of the map ?

(i) Name the cartographic techniques used in the map

(iii) Which continent has highest percentage of population of (Less than)
< 15 years ?

(iv) What is the percentage of population with (Less than) < 15 years
in N. America ?

(v) What is the percentage of population (more than) > 65 years in
Europe ?

1 /WORLD {AGE STRUCTURE'L

" Bares i+ et Aysomsrse Buok}

(b) Mark and name the following in the outline map of MUMBAI, provided to "5
you -
(i) AnlIsland in Thane Creek
(ii) A solid waste dumping area
(iii) An area having Kharland
(iv) A bird sanctuary
(v) Northern most creek.
OR
(b) Mark and name the following in the outline map of KONKAN, provided 5
to you :(—
(i) A hill station in Sindhudurg district
(ii) River Vaitarna
(iii) An earthquake prone area
(iv) District head quarter of Sindhudurg district

(v) A highly polluted creek of Konkan. .
[ TURN OVER
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2. Give reasons (any three) - 15
(a) Bio-diversity must be preserved
(b) Fossils fuels have their own demerits
(c) Man is a significant element in environment
(d) Forests are ecologically important to man
(e) Global food supplies has increased over time.

3. Write short notes (any three) :— 15
(a) Eco-tourism
(b) Non-conventional sources of energy
(c) Sea-food
(d) Forest products
(e) Rain harvesting.

4. (a) What are the abiotic and biotic components of environment ? 8
(b) Describe water cycle with diagram. o
5. (a) Discuss the need and methods of soil conservation. 8

(b) What are ‘green’ movements ? How far are they successful in India ? 7

6. (a) Describe in brief the high density populated areas of the world. 8
(b) Write a note on population policy of India. 7
7. (a) Write a note on “Global Distribution of water”. 8
(b) Discuss the use and misuse of water in Mumbai. 7
8. (a) Describe the factors which influence the type of forest in an area. 8
(b) Discuss various techniques for soil conservation. 7
9. (a) Examine the factors responsible for hunger in the world. 8
(b) What are the major food crops ? Explain in brief. 7
10. (a) Discuss the factors favourable for the production of hydro-electricity. 8
(b) Describe the reasons for less consumption of energy in underdeveloped 7
countries of the world.
11. (a) lIdentify the tourist potentials in India. B8

(b) Explain the role of tourism in the development of the economy. 7
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N.B. : (1) Attempt any two questions from Section I and any three questions from Section II.

1.

(a)

(b)

(c)

(d)

. (@)

(b)

(c)
(d)

. (a)

(b)

(2) Answers to the both sections should be written in same answer-book.
(3) Figures to the right indicate full marks.

(4) Graph papers and logtables will be supplied on request.

(8) Use of simple calcualtor is allowed.

A shopkeeper received Rs. 1,61,500/- for selling 1000 clocks at a trade discount 4
of 15% and cash discount of 5%. Find the marked price of each clock. If the
cost price of a clock is Rs. 120/-, find the percentage of profit.

Find the equation of a'straight line wihich is perpendicular to the line 3x -4y =7 §
and passing through a point, (2, 3).

Differentiate the following with respect to ‘x'— 5
x% 4 I)
(i) y==xe*+log® (i) y= - -
log
(I) Explain in brief the arithmatical operators in BASIC, 3
(II) Convert the following into BASIC expressions :— : 3
- 3r? 4 4q
(i) 3x2+ [y = |4x+y?| (i) ax?+ 2 bx + ¢ > 0 (iii) 3.
8m-n
An investor sold his ownership flat for Rs. 20 lacs and purchased another 4

property for Rs. 25 lacs through the same agent. The agent charged him
2% commission on sale and 3% commission on purchase. Find agent’s

total commission in these deals. /ind also find the extra amount to be paid by the
investor.

Find the value of ‘a' if the following three points are collinear points P(6,4), 5
Q(8, 5) and R(12, a). 3

Examine the following function for maxima and minima f(x) = 23~ 9 x? + 12 x + 5.
(I)  Explain with suitable examples the following BASIC statements :— 3
(i) IF-THEN (i) IF - THEN - ELSE.
(I1) Find output of the following BASIC program segment. 3
10 LET x =10
20 LET y=2 *x-5
30 LET x=y
40 LET y=2%x-5
50 PRINT x; y
Using Newton's interpolation formula find (12) for the following :— 4
x | 5 [10] 15 | 20
£(x) 15| 271 | 8% | 37
Solve the following linear programming problem graphically :— 5

Minimize 2 =50 x + 40 y

Subject to 3x + 2y > 12, x + 2y > 8 and x > 0, y > 0. [TURN OVER



Con. 1-VN-5204-09. 2

(c) Find the equation of tangent and normal to the curve y = 6x? - 2x + 5atx = 1.

(d) (I) Write BASIC statements for the following :—
(i) Assign the value of square root of 28 to M.
(ii) Transfer control to line no. 100 from line no. 200 if x is more than y.
(iii) To halt the program execution temporarily.
(II) State which of the following are true or false with respect to ‘BASIC".
(i) Every READ statement requires separate DATA statement.
(i) Inthe hierarchy of arithmatic operations multiplication and divisions
are in last order of occurrence.
(i) GO-TO statement is conditional transfer statement.

4, (a) Obtain the estimiate of the missing figure in the following table, using the forward
difference table method. Also state the necessary assumptions.

x 6 8 10 12 14

Fox)| 9 | 14 | — | 32 | 88

(b) Solve the following linear programming problem graphically
Maximize Z = 10x + 20 y

Subjectto3x + 2y < 12, x +2y <8and x>0,y >0

+ 2
p-1"
then find the price elasticity of demand when the price is Rs. 10/-.

(c) If the demand function is D = where d is demand and p is the price,

(d) (I) Explain the following BASIC statements using suitable example—
FOR - TO — NEXT
(II) If X = - 8-1 then find the values of the following BASIC expressions—
(i) SQR(ABS(INT(X))) (i) INT (SQR(ABS(X)))

Section II

5. (a) Explain the following terms used in statistics :—
(i) Population and Sample
(ii) Attribute and variate
(iii) Discrete variate and continuous variate.

(b) Find the arithmatic mean and median of following :—

Weight in Kgs |15—20 |20—25 [25—30 |30—35 |35—40 [ 40—45| 45—50
No. of Students 9 11 17 23 20 15 5

(c) Draw a histogram and hence locate mode graphical using the data given below :
Marks 0—10 | 10—20| 20—30| 30—40 [40—50 [ 50—60
No. of Students| 13 18 22 28 10 4
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6. (a) Find the product moment correlation coefficient for following i — 6
x 22 17 29 40 33 50 38 43 53
vy | 30 | 35 31 42 | 40 45 | 38 | 34 52
(b) Calculate the price index numbers using— 7
(i) Laspeyre's
(ii)) Paasche's
(iii) Fisher's methods for the following :—
Commodity Current year 2005 Base year 2000
Price Quality Price Quantity
1 10-50 10 13-00 16
2 16:00 12 18-00 12
3 18-00 10 20-00 12
4 25-00 15 22-00 18
(c) Calculate the mean deviation from the arithmatic mean for following :— T
Marks 5—15|15—25 |25—35|35—45| 45—55 | 65—65 [65—T5
No. of Students| 10 12 18 20 15 8 1
7. (a) Calculate the trend using 3 yearly moving averages for the following data :— 6
Year 1995]| 1996|1997| 1998 1999| 2000|2001| 2002| 2003|2004
Sales in ‘000’ | 103 | 111 | 107 | 120 | 118 | 125 | 130 | 128 | 135 | 140
(b) Eight candidates ranked by two judges as follows :— 7
Ranked by Judge I | 1 6 5 8 7 3 2 4
Rank by Judge II 3 2 4 6 & 7 1 8

Find the coefficient of correlation based on ranks. Hence interpret the result.
(c) Calculate the standard deviation and coefficient of variation for the following 1

distribution.
ClIl |1—10|11—20|21—30|31—40|41—50|51—60|61—70
f 8 13 22 27 18 10 2

8. (a) Two regression lines of a bivariate dataare 2x -~y + 10=0and 3x -4y + 100 =0. 6
Find the means (x, y) and the correlation coefficient (r).
(b) A bag contains 20 lottery tickets numbered from 101 to 120. One ticket is drawn 1

at random. What is probability that the ticket drawn will have number

(i) multiple of 3 (ii) multiple of 4 (iii) multiple of 3 or 4 (iv) Multiple of 3 and 4.

(c) Using data given below fit the straight line trend and hence estimate trend of 1
the year 2008.

Year

2000

2001

2002

2003

2004

2008 | 2006

Sales in thousands

17

28

42

54

60

15 90

[TURN OVER
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9. (a) A player tosses 3 fair coins at a time. He gets Rs. 4 for every head and he
pays Rs. 3 for every tail. Find his mathematical expection of gain.
(b) (i) State probability mass function of a binomial random variable with parameter
n and p. Also state its properties.
~ (1) If anunbiased coin is tossed 5 times. Find probablity of getting exactly
3 heads.
(c) 800 candidates appeared for a certain test. The mean score was 59 and variance
was 25. Assuming the distribution to be normal, find—
(1) % of candidates scoring 64 and above.
(ii) "No. of candidates having score between 54 and 69.
(Given : For a s.n.v. z, the area between z = 0 toz = 1 is 0-3414 and between
z=0toz=2is 0:4773)
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N.B.

10.

11.

12.

13.

(3 Hours) [Total Marks : 100

: (1) Part ‘A’ is compulsory.
(2) Attempt any four questions from Part B
(3) Attempt any two questions from Part ‘Cl.
(4) Figures to the right indicate full marks.
(5) SectionII is compulsory.

Section I—(70 Marks)
Part ‘A’—(10 Marks)
Discuss the concept and importance of ‘Tolerance’ as basic human values.
Or

Explain the significance of ‘Patriotism’ in modern times.

Part ‘B’—(40 Marks)

VWhat is communalism ? Explain with examples how it lead to inter-group conflict.

Explain with examples how women are exploited at the workplace.
Discuss solutions to India’s economic problems.
Bring out basic features of National Education Policy.
Explain the types of corruption. What are the causes of corruption ?
What is handicap ? Write a note on the physical handicapped.
What is noise pollution ? Describe it's main sources.
Write a note on any one of the following i—

(a) Causes of AIDS

(b) Soil pollution

(c) Effects of Alcoholism.

Part ‘C’—(20 Marks)

Explain how healthy personality develops ?
What is maturity ? Explain the steps towards maturity.
Bring out the importance of realistic goal-setting.
Worite a note on any one of the following :—

(a) Process of decision-making

(b) Kinds of frustration
(c) Techniques of handling stress.

10

10

10

10

10

10

10

10

10

10

10

10

10

10
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Section II—(30 Marks)

14. Comment on any seven of the following in not more than ‘five’ sentences each :— 14

M

@) .

)
4)
®
(6
(D
®
®
(10)

Presidential election in America.

Satyam scam.

Recession and Unemployment.

India-Pak relation.

Government'’s package for farmers.

Attacks on Christian Missionaries in Kandhamal, Orisa.
Kashmir Elections—2008.

Loadshading in Maharashtra.

Garib Rath.

Poor performance of Indian Sportpersons.

State whether the following statements are true or false :— 6

€Y
(2)
©)
4)
)

®

Mr. P. Chidambaram is the Finance Minister of India.

Bharat Natyam is the Famous dance of Gujarat.

Sharad Pawar is Deputy Prime Minister of India.

The Constitution of India was adopted on 26th January, 1850.
China economy is the fastest growing economy in the wozrld.
Arjun Singh is a Union Minister of Power.

Answer in one sentence each (any ten) :(— 10

(&)
@
®)
@
)
®
0]
®
®
(10)
an
(12)
(13)

(14) -

(18)

Name the Petrolium Minister of India.

Name the police officers who became Shahid in terrorists attack on Mumbai.
Name the Chief Minister of Rajasthan.

Who is the President of International Cricket Council (ICC) ?
Write a full form of SEBIL

Distinguish between Credit card and Debit card.

Who is the Director of ‘Slum-dog Millionaire’ ?

What is the full form of MMRDA ?

Who is the Chairman of University Grant Commission ?

In which state of India Koyana' Dam is located.

What are ‘Tsunami’ Waves ?

Who is Sunita Williams ?

Who is the President of Pakistan ?

Which committee report is related to Muslim Community ?
What is the achievement of Vishwanathan Anand ?
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Con.

N.B. :

1. (a)
(b)
2. (a)
(b)
3. (@)
(b)
4. (a)
(b)
5. (a)
(b)

2(a)-09. 5 VN-5328
(REVISED COURSE)
(3 Hours) [Total Marks : 100
(1) All questions are compulsory.

(2) Figures to the right indicate full marks.
(38) Write answers of both the sections in the same answer-paper.

Section I
Explain the factors responsible for Indian Society to be multicultural in nature. 6
Or
Write a note on ‘Regional Imbalance’ in India. 6
What is Alcoholism and what are the symptoms of alcoholic addiction ? 8
Or
Discuss how AIDS is transmitted among people ? 8
What are the factors responsible for regional imbalance in India ? 8
Or
What are the main problems faced by women in India ? 8
Write a note on SMOKING. 4
Or
Explain measures to overcome the problems of child labour. 4
Describe the role of Youth in promoting communal harmony. 8
Or
What are the fundamental duties of Indian Citizens ? 8
What are the problems faced by senior citizens ? 4
Or
What preventive measures should be taken against drug addiction. 4
What are the features of Group ? 3 8
Or
Write a note on women and mass media. 8
What are the causes of alcoholism ? 4
Or
Explain the various symptoms of AIDS. 4
Section II
Explain the main features of New Industrial Policy 1991. 6
Or
Write a note on impact of Globalization. 6
How does environment influence the personality development of an Individual ? 8
Orx
Write a note on ‘career planning’. 8

[TURN OVER
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6. (a) Discuss how values are greatly affected due to globalisation.
Or i
What is consumerism. Explain its importance.
(b) Explain the causes of Frustration.
Or
What are the various strategise to overcome stress ?
7. (a) Waht is outsourcing ? What are the benefits of outsourcing ?
) Or
Write a note on effects of Migration ?
(b) Explain how time Management is important is modern world.
Or
Write a note on Heredity.
8. (a) ‘Globalization has impact on agriculture'. Comment.
Or
‘Agriculture sector plays important role in Indian Economy’. Comment.
(b) What are the characteristics of Healthy personality.
Or
Write note on Self-Actualisation theory.
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N.B.: (1) Question No. 1 and 7 are compulsory.
(2) Besides compulsory questions. Attempt any two questions from each section.
Total questions to be solved are six. '
(3) Figures to the right indicate full marks.

Section |

1. (a) Define the following :— 12
(i) Iso-quant
(i) Cross-elasticity of demand
(iii) Demand Forecasting
(iv) Internal Economics.
{b) Distinguish between (any two) - 6
(i) Fixed Cost and Variable Cost
(ii) Micro and Macro Economics
(iii) Average Cost and Marginal Cost.

2. (a) Explain the factors determining the elasticity of demand ? 8
(b) Define income elasticity of demand and the various types of income elasticity. 8
3. (a) State and explain the concept of consumer surplus. 8
(b) Solve the following case study - 8
Measure the consumer's surplus from the following data :
Units of goods Total Utility (Rs.) Actual Price

1 50 6

2 78 6

3 102 6

4 118 6

5 124 6

6 126 6
4. (a) Explain the properties of Iso-quant curve. 8
(b) Discuss the importance of demand forecasting. 8
5. (a) Discuss the relationship between AC and MC. 8
(b) Measure TVC, MC, AFC and AVC from following data :- 8

Units | 1 2 3 B 5 6

TC 40 55 80 110 160 | 220
TFC | 30 30 30 30 30 30

[ TURN OVER
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6. Write notes on any two of the following :=

(b)

10. (a)

(a) Production Function

(b) Production Possibility Curve

(c) Short-run cost curve behaviour

(d) Subject matter of Busines Economics.

Section Il

Define the concepts -
(i) Selling Cost
(i) Industry
(iii) Oligopoly
(iv) Dumping
Distinguish between any two =
(i) Monopoly and Prefect Competition
(i) Marginal Cost Pricing and Full Cost Pricing
(iii) Average Revenue and Marginal Revenue.

Explain the features of Prefect Competition ?

How does firm attain short-run equilibrium under perfect competition.

What are the features of monopolistic competition ?
Discuss the wastes of monopolistic competition.

Explain relationship between AR and MR under monopoly.
Measure TR and MR from following information :—

No. of Units Sold 1 2 3 4 B 6
Average Revenue (Rs.) | 110 106 | 94 | 70 | 60 45

11. Briefly explain the objectives of firm.

12, Write notes on any two -

(a) Break-even analysis

(b) Significance of Capital Budgeting
(c) Need for Project Planning

(d) Price Discrimination.

16

12
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Communication o coos

(3 Hours) [Total Marks : 100

Con. 3 -09.

N.B.: (1) Answers to the two sections should be written in the same answerbook.
(3) Figures to the right indicate full marks.

Section |
1. (a) Explain with diagram the two way process of communication. 8
Or
(a) Write short notes on any two of the following :~ 8
(i) Grapevine (i) Psychological barriers to communication
(iii) Body language (iv) Internet
(b) Examine the role of a chairman and of participants in meetings. 7
Or
(b) Write short notes on any two of the following — 7

(i) Job selection interview

(i) Essentials of effective letter writing
(iii) Problems of group communication
(iv) Advantages of committee.

2 Write short notes on any three of the following :— 15
(i) External Public Relations
(i) Motivation
(iii) Importance of feedback
(iv) Advantages of conference.

3. (a) What is a conference ? Discuss the various measures required to ensure its 10
success.

Or

(b) What is Public Relation ? How does public relation department function in an 10
organisation ?

4. (a) Draft a Notice and Agenda for the Fifth Annual General Meeting of the share 4
holders of Deepak Fertilizers Ltd. Mumbai.
(b) Draft a properly worded Resolutions for the following :— 4
(i) To declare dividend
(ii) Appointment of director in the place of Shri B. K. Kamat who retires
by rotation.
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Section Il
5. (a) Draft atestimonial for an employee in your accounts department who is leaving

(a)
(b)

(b)

6. (a)
(b)
7. (a)
(b)

your firm.

Or
A clerk of the sales department of your concern is careless and negligent in
his work. Draft a memo, warning him of serious consequences.
On account of strike in your factory you are unable to deliver to M/s. Jadhav
and sons, Nagpur, 250 bicycles by the stipulated date. As the sales manager
of India Cycle Manufacturing Co. Write a letter requesting extension of time
(Write in full block form).

Or
You have received a complaint from a valued customer from Pune, pointing
out that the steel furniture he had ordered for a special occasion has arrived
in a badly damaged condition. Though the fault is of the transport company,
you have decided to replace the damaged furniture. Draft your reply (Write in

Modified Block form).

Draft a sales letter to promote the sale of any one of the following :-

(i) Space saving furniture

(i) A new wrist watch

(ili) Non fattening edible oil.
Draft a petition in the form of a letter to be presented to the District Consumer’s
Redressal Forum about a refrigerator that you bought from a reputed company
and which you find making loud noise and does not cool sufficiently. Explain
how you have failed to get your complaint redressed by the company in-spite
of several letters from you.

You have received an order for goods worth Rs. 1,00,000/- from M/s. Patel
and Brothers. As they have asked for a credit of three months, write a letter
asking for two trade references.

Inspite of repeated reminders Rahul Construction Co. has not paid a bill amount
of Rs. 50,000/- which is long overdue. Draft a final collection letter as a manager
of Ashok Material Suppliers.

8. A committee has been formed to investigate the possibilities of starting a co-operative
store in your college. Draft the report of the committee with favourable recommendations.

Or

A plastic factory of which you are a manager, has been badly damaged by fire. 10
Draft a report to your directors, informing them of the accident and your preliminary
findings.
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Rusiness syetem cmd +he Society
Wi MR- A :
Con. 7-09. : VN-5395
(3 Hours) [ Total Marks : 100

N.B. :(1) Attempt any three questions from each section.
(2) Tie both the sections together.
(3) Figures to the right indicate full marks.

Section |
1. (a) What do you understand by business 7 Explain its characteristics. 8
(b) Explain the factors contributing 1o Globalization. 8
2. (a) Highlights the role of public sector in Indian Business Environment. 8
(b) What is a co-operalive society 7 Explain its features. 8
3. (a) Explain the Technological and Demographic environment in India. 8
(b} What measures can be initiated to improve the education system in B
India ?
4. (a) Explain the social objectives of a business. 8
(b) Explain the role of profit in business. 8
5. Write short notes on any three of the following - 18
(a) Changing scenario since liberalization
(b) Role of private sector in India
(c) Significance of business environment study
(d) Organic objectives of business
(e) Career options to commerce students
(f) Joint sector.
Section |l
6. (a) Who is a promoler 2 Explain the different types of promoters. 8
(b) Explain the steps involved in project planning. ]
7. (a) What are the essentials elements of good turnaround strategy ? 8
(b) What are the objectives of business growth ? 8
8. (a) Define MNC's. Explain the demerits of MNCs. 8
(b) Explain the different forms of business combinations. 8
9. (a) Explain the image building process of Business. 8
(b) What is business ethics ? Explain its importance in business. 8
10. Write short notes on any three of the following = 18

{a) Social Audit

{b) Problems of consumer movement in India
(c) Optimum Business Unit

(d) Amalgamation

(e) Social Responsibility of Business

(f) Types of combinations.
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FY 2 Accounting <€. Frnancial

BBarciee Maviayemend—Pepey T APl 2o %9
Con. 4 & (a)-09. (OLD COURSE) VN-5284
(3 Hours) [Total Marks : 100

N.B.: (1) Question No.1is compulsory and atterpt any five from the rest.
(2) Figures to the right indicates full marks. allotted to question.
(3} All working notes should form a part of your answer.

1. From the following Trial Balance and the additional information prepare the manufacturing 20
Account. Trading and P and L. A/c and the Balance Sheet relating to 2008.

Particulars Rs. Particulars As.
Stock on 1-1-08 _ Sundry Creditors 1.62,b00
Raw Matenal 2.10.000 | Bills Payable 75,000
Work-in-progress 95,000 | Sale of Scrap 25,000
Finished Goods 1,15,000 | Commission 4,500
Sundry Debtors 2,44,000 | Provision for Doubtful
Carriage Inward 15,000 | Debts 1€,500
Bills Receivable 1,50,000 | Capilal Account 9,00.000
Wages 1,30.000 | Sales 17,7¢,000
Salanes 1,00,000 | Bank Overdrait 10,200
Telephone Charges 19,000
Repairs to Pant 11,000
Repaiis to Furniture 3,500
Purchases 8,00,000
Cash al Bank 1,20,000
Plant and Machinery 7.00.000
Rent 50.000
Lightning of Faclory i 72,000
Oftize Genaral xpenses | 15,700
Insurarice 13,000
Office Furniture 1,10,000
B 29,64,200 29,64,200

Additional Information :—

{a) Stock on 31st December, 2008 were : Raw Materials Rs. 1,62,000; Finished
Goods Rs. 1,70,000 and work-in-progress Rs. 70,000,

(b) Salaries and wages outstanding for December, 2008 were Rs. 8,000 and Rs.
12,000 respectively.

(¢) Machinery is to be depreciated by 10% and office furniture by 10%

(d) Provision for Doubtful Debts should be maintained at the rate of 5% on
Deblors.

(e) Insurance Amounting to Rs 1,000 are prepaid.

( TURN OVER
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2. State whether the following items are Capital or Revenue or Deferred Revenue together 16
with brief reasons for your answer -

(@)
(b)
(c)

(d)
(e)
h
(g)

()

Paid Rs. 1.00,000/- as custom duty on the Machinery imported.

Furniture worth Rs. 20,000/~ destroyed by fire, which was not insured.
Goods worth Rs. 30,000/~ distributed free amongst the workers on Diwali
Pooja day.

Commission Rs. 40,000/- received on sales.

Receivad Rs. 4,00,000/- on issue of 10% Debentures.

Preliminary Expenses paid Rs. 15,000/

Stock of goods worth Hs, 25,000/~ destroyed by fire, which was also not
insured.

Interest paid Rs. 5.000/- on Bank Overdraft.

3. From the books of M/s Ketan Chemicals Ltd. the following particulars regarding its
machinery Account are avalable -

(@)
(b)
(c)

(d)

(e)
U]

Balance on January 1-2008 Rs. 50,000/-

Purchase of Machinery on July 1-2008 Rs. 20.000/-

Sales of machinery on Oclober 1-2008 Rs. 16,000/-. The original cost of
machinery sold was Rs. 20,000/ on 1st July, 2005.

Installation charges of Rs. 4,000/- on the purchase of new machinery on July
1st, 2008.

Machinery is bainn dopreciated at 10% per annum on fixed instalment basis.

The opening Balance nciudes Hs, 35,000/~ worth machinery purcnased on
21st Decembar, 2007

Prepare machinery account and depreciation account i the books of Ketan Chemicals
Ltd. for the year endad 31s! Dec,, 2008.

4. From the following particulars relating to Vinita Mission Charitabwe Hospital, prepare
Income and Expenditure Accounts for the year ended 31st December, 2008 and Balance
Sheet as on that date -

Receipts and Payments Accounts for the year ended 31-12-2008

Fiecelpt-s ﬂ_:;.: _ P;:;r-ment Hs.__
To Cash in hand b/d 7.130 | By Medicines 30,560
To Subscriptinns 47,996 | By Doctor's Honorasum 9,000
To Donations 14,500 | By Salaries ) 27,500
To Interest on Invt. @ 7% By Petty Expenses 461
for full year 7,000 | By Equipments 15,000
To Proceeds from 10,450 | By Expenses on 750
charity show charity show
By Cash in hand C/d. 3,775
87,076 #7,076
Particulars on 1st Jan., 08 | 31st Dec., 08
Rs. Rs.
(@) Subscriptions Due 240 280
(b) Subscriptions Received in Advance 64 100
(c) Stock of Medicines 8,810 9,740
(d) Estimated value of Equipment 21,200 31,600
(e) Buildings (Cost Less dep.) 40,000 38,000

16

16
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Con. 4-VN-5284-09.
5. Mr.Bhopatrao does not maintain proper books of accounts. From the following information, 16
prepare Trading and Profit & Loss Account for the year ended 31st March, 2008 and
a Balance Sheet as on that date —

Assets and Liabilities 1-4-2007 (Rs.) 31-3-2008 (Rs.)
Plant and Machinery 1,40,000 1,40,000
Furniture 10,000 10,000
Stock 44,000 60,000
Debtors 81,000 1,12,500
Creditors 27.000 22,500
% Investments 50,000 50,000
Analysis of other Transactions -

Particulars Rs.

Cash paid lo creditors 1,98,000

Cash Received from Debtors 2,73,600

Salaries 54,000

Rent 7,500

Office Expenses 19,000

Drawings 13,500

Additional Capitai Introduced 10,000

Cash Sales 35,000

Cash Purchases 25,000

Discount Received 3,150

Discount Allowed 1,350

Return Inward 4,500

Returns Outward 3,600

Bad Debts 930
| Cash as on 1-4-2007 20,000 |

Depreciate Plant and Machinery @ 5% p.a. and Furniture @ 10% p.a. and also provide
interest recoivable on Investments.

6. Afire on 1st October, 2008 destroyed the stocks of a Taj firm. The business rezords 16
were saved and from them the following particulars were ascertained.

Hs.
Stock at cost on April 30, 2007 70,880
Stock on April 30, 2008 60,080
Purchases for the year to April 30, 2008 1,66,160
Sales for the year to April 30, 2008 2,44,000
Purchases from May 1, 2008 to Sept. 30, 2008 59,760
Sales from May 1, 2008 to Sept. 30, 2008 94,400

In valuing the stock on April 30, 2008 Rs. 1,280 had been written off a particular line
of goods which had originally cost Rs. 2,880/- and which were seld in June, 2008 for
Rs. 2,800. Except as regards this transaction the ratio of gross profit had remzined
unchanged throughout. .
The value of stock salvaged from the fire was Rs. 8,168/-. You are required to calculate
the amount of the claim to be presented to the insurance company in respect of the
loss of stock.
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7. Jackson Departmental Stores has two departments :
Dept. A for Sport equipments and Dept. B for Musical instruments .
Following information is given regarding the transactions for the year 2008 .—

Rs.

Opening Stock : Dept. A 42,000
Dept. B 34,000

Purchases : Dept. A 2,56,000
Dept. B 1,94,000

Sales - Dept. A 4,30,000
Dept. B 3,74,000

Return Inwards : Dept. A 10,000
Dept. B 14,000

Wanes 45,000
Salaries 40,000
Advertisement expenses 26,000
Insurance Charges 3,800
Rent and Taxes 36,000
Electricity Charges 40,000
Bad Debts 3,900
Carriage Inwards 9,000
Discount allowed 3,250
Discount received 2,250
Office and General expenses 21,000

Additional Information :-
{a) Closing Stock of Dept. A was Rs. 54.000/- and Dept. B was Rs. 40,000/
(b} Insurance was taken for stock of goods on lhe basis of opening stock of each depariment.
{c) Dept. A occupies halt of ihe space than Dept. B whereas the electricity
consumption on Dept. A was 50% more than that of Dept. B.
(d} Wages are incurred in proportion of purchases of each department where
as, both the departments employ same number of employees in the office.
(e) Office and general expenses 10 te apportioned to Dept. A and Dept Bin the
ratio of 2:1 respectively.
(f) During the year, the goods cosling Rs. 15,000/ transferred to Dept. A from
Dept. B. not considered above.
Prepare departmental Trading and Profit & Loss Alc for the year ended 31st December, 2008.

8. A Head Offica in Mumbai has a branch in Khopoli to which goods are invoiced by the
Hoad Office at cost price plus 25%. All cash received by the branch is remitted to Head
Office. All expenses ara paid from Head Office. From the following particulars, show
how the Branch Account will appaar in the books of Head Qifice.

Stock on 1st Jan., 2008 at invoice price 1,250
Debtors on st Jan. 2008 1,200
Goods Invoiced from H.O. (at Invoice Price) 4,000
Remittances to Mumbai

Cash Sales 1,600

Collection from Debtors 2,950 4,550
Goods Returned to the H.O. 240
Cheques received from H.O. for

Wagqes & Salaries 1.100

Rent, Rates eatc. 300

Sundry Expenses 50 1,450
Stock on 31st December, 2008 at invoice price 1,500
Debtars on 31st December, 2008 2,250

9. Write short notes on any four -
{a) Disclosure in Final Accounts (d) Features of Single Entry System
(b) Capital Receipts (e} Deblors System of Branch Accounting
(c) Causes of Depreciation () Receipts and Payment Account.
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Con. 4(a)-09.

N.B.: (1)
2)

(3)
(@

5

(REVISED COURSE)

(3 Hours)

VN-5284

[Total Marks : 100

From Section-l, Question Nos. 1 and 2 are compulsory and attempt any one question
from questions No. 3 and 4.
From Section I, Question No. 5 and 6 are compulsory and altempt any one question
from question No. 7 and 8.
Figures to the right indicate full marks.

Working notes should form part of your answer.

Section |

1. From the following Trial Balance and the additional information prepare the manufacturing 18
Account. Trading and P. and L. A/c and the Balance Sheet relating to 2008.

Particulars Rs. Particulars Rs.

Stock on 1-1-08 Sundry Creditors 1,63.000
Raw Material 2,10,000 | Bills Payable 75.000
Work-in-progress 95,000 | Sale of Scrap 25.000
Finished Goods 1,15,000 | Cemmission 4.500
Sundry Debtors 2,44,000 | Provision for Doubtful
Carriage Inward 15,000 | Debts 16.500
Bills Receivable 1,50,000 | Capital Accounts 9,00.000
Wages 1,30,000 | Sales 17,70,000
Salaries 1,00,000 | Bank Overdraft 10,200
Telephone Charges 10,000 i
Repairs to Plant 11,000 ]
Repairs to Furniture 3,500
Purchases 8,00,000
Cash at Bank 1,20,0C0
Plant and Machinery 7,00,000
Rent 50,000
Lightning of Factory 72,000
Office General Expenses 15,700
Insurance 13,000
Oftice Furniture 1,10,000

29,64,200 29,64,200

Additional Information :-

(a) Stock on 31st December, 2008 were : Raw Materials Rs. 1,62,000; Finished
Goods Rs. 1,70,000 and work-in-progress Rs. 70,000.

(b) Salaries and wages outstanding for December, 2008 were Rs. 8,000 and As.

12,000 respectively.

(c) Machinery is 1o be depreciated by 10% and office furniture by 10%

(d) Provision for Doubtul Debts should be maintained at the rate of

Debtors.

(8) Insurance Amounting to Rs. 1,000 are prepaid.

% on
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2 State with reasons whether following statements are True or False :— 16

(a)
(b)
{c)
(d)
(e)
U]

@
()

There is a need to disclose change in accounting policies

Fixed Instalment method of depreciation is also known as original cost method.
Fixed assets are not held for sale in the normal course of business.
Wages paid for erection of new machinery are debited to machinery account.
Prepaid expenses are revenue expenses.

Outstanding expenses need not be provided.

Garriage inward should be deducted from sales.

Subscription received in advance in an asset.

3. From the books of M/s. Ketan Chemicals Ltd. the following particulars regarding its 16
machinery Account are available -

(a)
(b)
(c)

(d)

(e)
)

Balance on January 1-2008 Rs. 50,000/~

Purchase of Machinery on July 1-2008 Rs. 20,000/-

Sales of machinery on Oclober 1-2008 Rs. 16,000/-. The original cost of
machinery sold was Rs. 20,000/~ en 1st July, 2005.

Installation charges of Rs, 4,000/- on the purchase of new machinery on July
1st, 2008.

Machinery is being depreciated at 10% per annum on fixed instalment basis.
The opening Balance includes Rs. 35,000/ worth machinery purchased on
31st December, 2007.

Prepare machinery account and depreciation account in the books of Ketan Chemicals
Ltd. for the year ended 31st Dec., 2008,

4. From the following particulars relating to Vinita Mission Charitable Hospital, propare 16
Income and Expenditure Accounts for the year ended 31st December, 2008 and Balance
Sheet as on that date -

Receipts and Payments Accounts for the year ended 31-12-2008

Receipts Rs. Payment Rs.
To Cash in hand b/d. 7,130 | By Medicines 30,590
To Subscriplions 47,996 | By Doctor's Honorarium 9,000
To Donations 14,500 | By Salaries 27,500
To Interest on Invt. @ 7% By Petty Expenses 461
for full year 7,000 | By Equipments 15,000
To Proceeds from 10,450 | By Expenses on 750
charity show charity show
By Cash in hand C/d. 3,775
87,076 87,076
Particulars on 1st Jan., 08 | 31st Dec., 08
Rs. Rs.
(a) Subscriptions Due 240 280
(b) Subscriptions Received in Advance 64 100
(c) Stock of Medicines 8,810 9,740
(d) Estimated value of Equipment 21,200 31,600
(e} Buildings (Cost Less dep.) 40,000 38,000
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5. Mr.Bhopatrao does not maintain p
prepare Trading and Profit & Los:

Section Il

a Balance Sheet as on that date -

Assets and Liabilities 1-4-2007 (Rs.) 31-3-2008 (Rs.)
Plant and Machinery 1,40,000 1,40,000
Furniture 10,000 10,000
Stock 44,000 60,000
Debtors 81,000 1,12,500
Creditors 27,000 22,500
6% Investments 50,000 50,000
Analysis of other Transactions \—

Particulars Rs. |

Cash paid to creditors 1,98,000

Cash Received from Debtors 273,800

Salaries 54,000

Rent 7.500

Oflice Expenses 14,000

Drawings 13.500

Additional Capital Introduced 10,000

Cash Sales 35,000

Cash Purchases 25,000

Discount Received 3,150

Discount Allowed 1,350

Return Inward 4,500

Returns Outward 3,600

Bad Debls jelolo}
| Cash as on 1-4-2007 20,000 |

Depreciate Plant and Machinery @ 5% p.a. and Furniture @ 10% p.a. and also provide

interest receivable on Investments.

6. State whether the following statements are True or False, justify your answer :-

(@)

(b)
(c)
(d)
(e)

®
(9
(h)

Purchase Journal is used for recording all transactions of credil purchases

of goods only.

Debtors account is prepared for accerlaing credit sales.

Selling price is not taken into consideration while preparing stores ledger.

Bad debts are credited to sundry debtors account.

Carriage outward should be allocated among the departments in the ratio

of sales.

E-commerce has made it possible to buy and sell goods on line.

Closing stock is always valued at cost price or market price, whichever is less.
Departmental accounts are necessary for evaluating departmental efficiency.

roper books of accounts. From the following information, 18
s Account for the year ended 31st March, 2008 and

16

2

A
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7. Jackson Departmental Stores has two departments :
Dept. A for Sports equipments and Dept. B for Musical instruments :

16

Following information is given regarding the transactions for the year 2008 :-

Rs.

Opening Stock : Dept. A 42,000
Dept. B 34,000

Purchases : Dept. A 2,56,000
Dept. B 1,894,000

Sales : Dept. A 4,30,000
Dept. B 3,74,000

Return Inwards ! Dept. A 10,000
Dept. B 14,000

Wages 45,000
Salaries 40,000
Advertisement expenses 26,000
Insurance Charges 3,800
Rent and Taxes 36,000
Electricity Charges 40,000
Bad Debts 3,900
Carriage Inwards 9,000
Discount allowed 3,250
Discount received 2,250
Office and General expenses 21,000

Additional Information :—

(a) Closing Stock of Dept. A was Rs. 54,000/- and Dept. B was Rs. 40.000/-
(b) Insmwslakmforstodw{gmdsmmbasisdopenhggodqmeam&panmm,
{c) Dept. A occupies half of the space than Dept. B whereas the electricity

consumption on Dept. A was 50% more than that of Dept. B.

(d) Wages are incurred in proportion of purchases of each department where
as. both the departments employ same number of employees in the office.
(e) Office and general expenses to be apportioned to Dept. A and Dept. B in the

ratio of 2:1 respectively.

() During the year. the goods costing Rs. 15,000/- transferred to Dept. A from

Dept. B, not considered above.

Prepare deparimental Trading and Profit & Loss A/c for the year ended 31st December, 2008.

8. The Balance sheet of Radnika as on 1st December, 2008, contained only the following lems — 16

Liabilities Rs. Assets fis.
Capital 1,90,000 | Cash 15,000
Loans 3,00,000 | Stock 18,000
Bills Payable 22,000 | Debtors 22,000
Creditors 40,000 | Furniture 10,000
Ofs Expenses 18,000 | Bills receivable 15,000

Land 2,00,000
Building 1,50,000
Machinery 1,40,000
5,70,000 5,70,000

During the month of December, 2008 following transactions took place -

(a) Paid Rs. 10,000/- to Creditor

(b) Cash Received from Debtor Rs. 12,000/-

(c) Sold goods worlth Rs. 20,000/~ to Debtors on credit

(d) Cash paid for carnage Rs. 2,000/-

(e) Purchased goods on account form creditors Rs. 14,000/
() Introduced additional capital of Rs. 10,000/

{(g) Rs. 3,000/~ paid as Interest on Loan

(h) Cash sales of Rs. 5,000/-

Prepare necessary ledger accounts for the above and draw a Trial Balance as on 31-12-2008.



